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NEW QUESTION 1
- (Topic 1)
Which of the following scenarios represents a correct application of the Supply-Chain Operations Reference-model (SCOR)?

A. Sales and marketing refers to SCOR to improve demand generation.

B. Production and engineering uses SCOR best practices to design a new "make" process flow.
C. Distribution and logistics selects suppliers from the SCOR reference list.

D. Marketing and development incorporates SCOR Level | metrics for new product design.

Answer: B

NEW QUESTION 2

- (Topic 1)

A large manufacturer wanting to be more competitive in the global market place decided to outsource its transportation and return processing to other companies
on a contractual basis. The companies providing the services would be referred to as:

A. fourth party logistics providers.
B. third party logistics providers.
C. retail services providers.

D. distribution services providers.

Answer: B

NEW QUESTION 3
- (Topic 1)
Which of the following organizational design choices is an example of vertical integration?

A. Contracting with a third-party logistics provider
B. Producing components used internally

C. Externally staffing a customer service center
D. Awarding a one-time trade show contract

Answer: B

NEW QUESTION 4
- (Topic 1)
The use of a seasonal index as a forecasting technique measures the ratio of the:

A. average seasonal demand to the average demand for all periods.

B. average demand for all periods to the average seasonal demand.

C. average seasonal demand to the standard deviation of the demand for all periods.

D. standard deviation of the seasonal demand to the standard deviation of demand for all periods.

Answer: A

NEW QUESTION 5

- (Topic 1)

A company considers outsourcing its information technology support to a low-cost region on another continent. The company currently has no business presence
there. Which of the following actions is most effective in helping to select a service provider?

A. Contacting the country's consulate for leads

B. Contacting the country's local government for recommendations
C. Visiting several potential providers before making a selection

D. Finding a trusted local business agent to help in the search

Answer: D

NEW QUESTION 6
- (Topic 1)
Which of the following corporate strategies is most consistent with a flexible supply chain strategy?

A. Being the low-price leader

B. Providing the highest-quality service

C. Providing mature products with stable sales
D. Emphasizing the quality of the product

Answer: B

NEW QUESTION 7

- (Topic 1)

An advantage of using a third-party logistics service (3PL) is improved:
A. on-time delivery of shipments due to higher inventory levels.

B. cost structure due to economies of scale.
C. access to smaller markets due to localization.
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D. risk visibility due to inventory consolidation.

Answer: B

NEW QUESTION 8
- (Topic 1)

A firm wants to lose customers that don't value the unique products and services the firm offers and to attract and retain customers that want what the firm offers.

Engaging in this activity should allow the firm to:

A. create a more loyal customer base.
B. improve customer satisfaction rates.
C. increase market share.

D. target higher-profit customers.

Answer: A

NEW QUESTION 9
- (Topic 1)

Keeping all other factors equal, a company typically will try to maintain higher service levels for products with:

A. wider variety.

B. shorter lead time.

C. higher profit margins.
D. lower sales volumes.

Answer: C

NEW QUESTION 10
- (Topic 1)

A firm has identified groups of customers based on specific characteristics the customers desire from products and services the firm can provide. Characteristics

include lead times, pricing tiers, and service levels. The firm is engaged in which of the following activities?

A. Customer differentiation
B. Order winner segregation
C. Market segmentation

D. Channel definition

Answer: C

NEW QUESTION 10
- (Topic 1)

The probability of customer dissatisfaction is highest when which of the following conditions exists?

A. Customer expectations are clearly defined.
B. Supplier execution is too low.

C. There is a gap between expected performance and perceived performance.
D. There is a gap between what was indicated and what was accomplished.

Answer: C

NEW QUESTION 12
- (Topic 1)

Companies are more likely to consider the consequences of their product design decisions when they view the reverse supply chain as an extension of the:

A. forward supply chain.

B. marketing process.

C. manufacturing process.

D. sales and operations planning process.

Answer: A

NEW QUESTION 17
- (Topic 1)
A main benefit of using customer relationship management (CRM) is:

A. maximization of on-time delivery.

B. minimization of product returns.

C. identification of customers with high lifetime value.

D. finding new markets for existing products and services.

Answer: C

NEW QUESTION 21
- (Topic 1)

A return material authorization (RMA) policy is used in reverse logistics to:
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A. physically transport returned items by using an efficient transportation mode.

B. minimize the number of returned items by involving product design and demand forecasting.
C. reduce the cost of returned items by refusing to accept items that should not be returned.

D. reclaim substantial value from returned items by recycling.

Answer: C

NEW QUESTION 26
- (Topic 1)
Which of the following is the most important result when a company implements customer relationship management?

A. Profits are maximized.

B. Retention of key customers is increased.
C. Product options are increased.

D. Transaction costs are decreased.

Answer: B

NEW QUESTION 31
- (Topic 1)
Which of the following types of information would be an appropriate basis for a qualitative forecast?

A. Leading indicators

B. Market research data
C. Order history

D. Shipment history

Answer: B

NEW QUESTION 33
- (Topic 1)
The primary reason for a firm to pursue strategic supply chain activities is to:

A. gain competitive advantage.
B. reduce costs.

C. increase productivity.

D. decrease product lead time.

Answer: A

NEW QUESTION 38
- (Topic 1)

A firm supplies products and services to a wide variety of industries with varying requirements for responsiveness and reliability. Many customers across these
industries are not satisfied with the firm’s ability to meet the lead time and on time delivery requirements. Which of the following tools is most appropriate for the

firm to use to improve
customer service?

A. Customer service ratio metrics

B. Market segmentation

C. Customer relationship management (CRM)

D. Supply Chain Operations Reference (SCOR®)

Answer: B

NEW QUESTION 41
- (Topic 1)
The focus of collaborative supply chain management differs from a transactional approach by its emphasis on the:

A. transportation of goods to the next link in the chain.

B. flow of product information up to the next level of the chain.
C. flow of demand information and cash up the chain.

D. flow of supply into an organization.

Answer: C

NEW QUESTION 42
- (Topic 2)

When a company undertakes a win-back strategy without considering the profitability of customer accounts, it is neglecting which of the following key elements?

A. Loyalty

B. Scoring

C. Segmentation
D. Prospecting

Answer: C
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NEW QUESTION 46

- (Topic 2)

A company ships from its manufacturing facilities directly to its warehouses. If the number of warehouses increases, transportation costs between manufacturing
facilities and warehouses most likely will:

A. increase.

B. decrease.

C. not change.

D. become less predictable.

Answer: A

NEW QUESTION 48

- (Topic 2)

A company produces and distributes a family of soft drinks in a single country. It has developed and will introduce a new family of soft drinks for weight- and health-
conscious individuals. There currently are no competitors with nationwide distribution for this category of soft drinks. Which of the following supply chain strategies
would be most appropriate for the two product families?

A. Produce both product families to forecast and push through the distribution system.
B. Produce both product families only after receipt of a distributor order.

C. Produce the current product family to forecast and the new product family to order.
D. Produce the current product family to order and the new product family to forecast.

Answer: C

NEW QUESTION 52

- (Topic 2)

A company closely monitors supplier performance and notices recent late deliveries from one supplier. The supplier discloses flood damage at the plant. The
company quickly shifts sourcing to a new supplier and has minimal loss of sales. Which of the following risk strategies reflects the company's actions?

A. Achieving low cost through reaction

B. Creating an adaptive supply chain community
C. Reducing supply chain vulnerability

D. Investing in redundancy

Answer: B

NEW QUESTION 53
- (Topic 2)
Which of the following processes would a company use to evaluate the risk profile for end- of-life planning for a product family?

A. Distribution requirements planning
B. Sales and operations planning

C. Rough-cut capacity planning

D. Production activity control

Answer: B

NEW QUESTION 57
- (Topic 2)
The United Nations Global Compact uses 10 guiding principles to:

A. reduce uncertainty for multinational firms regarding legal, import/export, labor, and environmental standards across countries.

B. set minimum levels of compliance across a broad range of transactional areas for businesses operating in multiple geographic regions.

C. align the needs of businesses to increase profitability and the needs of individual countries to ensure their specific legal requirements are met.
D. help ensure that markets, commerce, technology, and finance promote advancement of economies and societies everywhere.

Answer: D

NEW QUESTION 59
- (Topic 2)
The mission of the global reporting initiative (GRI) is to provide a:

A. comparison of key metrics for companies in the same industries across the globe.
B. feasible business plan that can be shown to global potential investors.

C. trusted and credible framework for reports regarding sustainability practices.

D. transparent collaboration between non-profit organizations and governments.

Answer: C

NEW QUESTION 64

- (Topic 2)

A company is formally adhering to the principles of the UN Global Compact. After a review of their supply chain, they have found that a key supplier is in violation
of the compact. The

best action for the company to do first is:

A. do nothin
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B. The company is not responsible for compliance of suppliers.

C. replace the supplier as soon as possible with a compliant supplier.
D. notify the supplier of non-compliance.

E. require the supplier to become compliant.

Answer: C

NEW QUESTION 65
- (Topic 2)
When doing international business, a company's total line-haul costs will vary with the:

A. weight shipped.
B. distance shipped.
C. pallets shipped.
D. volume shipped.

Answer: B

NEW QUESTION 70

- (Topic 2)

A company that sells engineered-to-order products is planning implementation of a supplier relationship management system (SRM) for direct materials. Which of
the following factors is most likely to make the implementation difficult?

A. Complexity of the purchasing process

B. Cost of the application software upgrades
C. Management of variable lead times

D. Resistance of material suppliers

Answer: A

NEW QUESTION 75
- (Topic 2)
Direct shipment distribution typically offers which of the following advantages?

A. Risk pooling is facilitated.

B. Demand variability is reduced.
C. Service levels are increased.
D. Lead times are reduced.

Answer: D

NEW QUESTION 77
- (Topic 2)
The globalization of a supply chain typically increases uncertainty and:

A. production lead time.

B. local competition.

C. documentation complexity.
D. product standardization.

Answer: C

NEW QUESTION 81
- (Topic 2)
In an advanced planning system, which of the following modules feeds the master planning module?

A. Purchasing planning
B. Demand planning
C. Distribution planning
D. Fulfillment planning

Answer: B

NEW QUESTION 83

- (Topic 2)

A manufacturer of consumer packaged goods with a single plant and nine regional distribution centers is considering reducing the number of distribution centers in
its system. Reducing the number of distribution centers most likely will reduce fixed warehousing and the cost of:

A. storing cycle inventory in the distribution centers.

B. storing finished-goods inventory at the manufacturing plants.

C. transportation from the distribution centers to the customer.

D. transportation from the plant to the distribution centers.

Answer: D

NEW QUESTION 84
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- (Topic 2)

A company originally based in Germany sets up companies in India, China, Vietnam, Mexico, and Brazil. It sources most of the raw materials locally and employs
the local workforce to manage and produce finished goods. Most of the goods produced are consumed in the same country. The company can be classified as
what type of enterprise?

A. Globally integrated
B. Domestic

C. Multinational

D. Virtual

Answer: C

NEW QUESTION 88
- (Topic 2)
What is the primary benefit of using a central storage warehouse for all components rather than using point-of-use storage?

A. Reduced need for bar codes and radio frequency identification technology
B. Reduced material handling costs

C. Ease of control and count accuracy

D. Maintain a cleaner shop floor

Answer: C

NEW QUESTION 91

- (Topic 3)

Which of the following actions best exemplifies an appropriate demand management
strategy?

A. Reducing costs in the procurement of goods

B. Prioritizing demand when supply is constrained

C. Maximizing sales orders from customers

D. Updating the sales and operations planning (S&OP) to changes in production capacity

Answer: B

NEW QUESTION 93

- (Topic 3)

A company is having trouble with raw material deliveries and decides to develop a supplier certification program. The certification process most appropriately
would start with which of the following suppliers?

A. Suppliers of "A" classified items

B. Suppliers recently ISO 9000-certified

C. Suppliers with the worst performance records

D. Competitors of suppliers with the worst performance records

Answer: A

NEW QUESTION 96
- (Topic 3)
Which of the following behaviors is appropriate for a progressive company that is responding to changes in its supply chain?

A. Pursuing cost reduction continuously

B. Developing multiple supply chains for different product lines

C. Ensuring demand before committing to a change in the supply chain
D. Designing products for maximum lifetime

Answer: B

NEW QUESTION 98
- (Topic 3)
What benefit does Radio Frequency Identification (RFID) technology provide for a high- volume, low-cost manufacturer?

A. Reduces store thefts

B. Eliminates the effects of bullwhip

C. Eliminates stock out at store level

D. Reduces number of touch points in pallet handling

Answer: D

NEW QUESTION 103
- (Topic 3)
Which of the following constraints is most important to consider when adapting a vertical integration strategy?

A. Location of suppliers

B. Location of customers

C. Capital requirements

D. Size of existing manufacturing plant
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Answer: C

NEW QUESTION 105
- (Topic 3)
A company operates under a make-to-order policy, and its supplier operates under a make- to-stock policy. Which of the following risks poses the greatest threat?

A. Inventory risk for the company

B. Inventory risk for the supplier

C. Debt leverage risk for the company
D. Debt leverage risk for the supplier

Answer: B

NEW QUESTION 109
- (Topic 3)
The most appropriate frequency for the sales and operations planning process typically is:

A. weekly.
B. monthly.
C. quarterly.
D. annually.

Answer: B

NEW QUESTION 114
- (Topic 3)
Which of the following export documents is used as the basis for the valuation of goods for insurance purposes and for assessment of duties?

A. Export license

B. Export declaration
C. Bill of lading

D. Commercial invoice

Answer: D

NEW QUESTION 117
- (Topic 3)
A new sales and marketing director who wants to transform a company into a customer driven organization most likely would consider:

A. allowing customers to use their preferred channels to interact with the company.
B. implementing an independent system to capture customer data.

C. minimizing the number of customer contacts.

D. focusing product design on manufacturing strengths.

Answer: A

NEW QUESTION 120
- (Topic 3)
Which of the following performance indicators can be used to measure the effectiveness of a vendor-managed inventory program?

A. Number of inventory receipts
B. Inventory usage

C. Inventory returns

D. In-stock rate

Answer: D

NEW QUESTION 125
- (Topic 3)
Supplier certification procedures verify that a supplier:

A. is ISO certified.

B. implements, documents, and improves procedures related to customer requirements.

C. tracks manufacturing processes, including bills of material and routings to support the processes.
D. manufactures products to the specifications shown on engineering documents and bills of material.

Answer: B

NEW QUESTION 127

- (Topic 3)

Organizations that change from a traditional purchasing perspective to a supply chain perspective most likely will adopt techniques related to:
A. product pricing.

B. value stream analysis.
C. centralized decision making.
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D. sourcing multiple suppliers.

Answer: B

NEW QUESTION 132
- (Topic 3)
Prioritizing customer needs is best accomplished by:

A. sharing information with key customers.

B. installing a new enterprise resources planning system.

C. responding to customer requests in the order they are received.

D. establishing policies and procedures for honoring customer requests.

Answer: D

NEW QUESTION 136
- (Topic 3)
The purchasing manager of a company wants to minimize stock-outs as well as obsolete inventory. Which of the following tools needs to be implemented?

A. Blanket purchase order

B. Advanced planning and scheduling (APS)
C. Buy-back contracts

D. Business-to-business integration software

Answer: C

NEW QUESTION 138
- (Topic 3)
Which of the following actions by trading partners would be most appropriate to protect against variability in supply and demand?

A. Improve product quality.

B. Increase inventory levels.

C. Increase information sharing.
D. Reduce product complexity.

Answer: :C

NEW QUESTION 143
- (Topic 3)
A company handling sale of product discarded by consumers is what type of provider?

A. Third party logistics (3PL)
B. Reverse logistics

C. Fourth party logistics (4PL)
D. Warehousing

Answer: B

NEW QUESTION 148

- (Topic 3)

Which of the following factors is the most appropriate measure of delivery performance for
finished goods?

A. Perfect order fulfillment
B. On-time delivery

C. Load efficiency

D. Available-to-promise

Answer: A

NEW QUESTION 150
- (Topic 3)
Which of the following objectives is the primary driver in the design and implementation of lean process management?

A. Reducing the level of inventory

B. Decreasing the cash-to-cash cycle

C. Integrating processes between departments
D. Satisfying customer requirements

Answer: D
NEW QUESTION 154
- (Topic 3)

A retailer wants to partner with its suppliers to implement automatic replenishment of inventories and joint sales forecasts. Which of the following supply chain
management technologies most likely would support the retailer's strategy?
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A. Advanced planning and scheduling

B. Collaborative planning, forecasting, and replenishment
C. Supplier relationship management applications

D. Radio frequency identification (RFID) tags

Answer: B

NEW QUESTION 159

- (Topic 3)

A large, global third party logistics provider (3PL) is contemplating the switch to the use of ethanol-based fuel in its truck fleet and wants to identify the impact of
this change on food prices. Which of the following attributes of the triple bottom line (TBL) are part of this trade off decision?

A. Organizational, financial and social

B. Social, financial and environmental

C. Social, environmental and organizational
D. Organizational, financial and environmental

Answer: B

NEW QUESTION 161
- (Topic 3)
A procurement manager wants to reduce costs on commodity items. Which of the following actions is likely to result in the greatest savings?

A. Conducting a supplier review and recertification
B. Renegotiating contracts with commodity suppliers
C. Standardizing and eliminating redundant items

D. Leveraging group purchasing power

Answer: D

NEW QUESTION 165
- (Topic 3)
Which of the following tradeoffs should be considered when selecting logistics options?

A. Safety stock levels and customer service levels

B. Inventory levels and scheduling operations

C. Transportation cost and speed of delivery

D. Centralized and decentralized distribution network

Answer: C

NEW QUESTION 170
- (Topic 3)
Use of a centralized distribution center rather than a decentralized distribution network typically results in which of the following consequences?

A. Distribution system overhead is higher.
B. Customer delivery time is shorter.

C. Total transportation costs are lower.

D. Safety stock levels are lower.

Answer: D

NEW QUESTION 174
- (Topic 3)
Which of the following manufacturing strategies would run the greatest risk of increasing obsolete inventory costs?

A. Make-to-stock
B. Assemble-to-order
C. Make-to-order
D. Engineer-to-order

Answer: A

NEW QUESTION 179

- (Topic 3)

The most common method for coping with demand variability in the manufacture of products with a lengthy cycle time is to have:
A. higher raw material inventory.

B. higher finished-goods inventory.

C. lower finished-goods inventory.

D. lower raw material inventory.

Answer: B

NEW QUESTION 183
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- (Topic 3)
A pattern of increased shipments from manufacturing plants to a central warehouse at month-end and quarter-end typically would cause which of the following
situations in a central warehouse?

A. Fluctuation in required labor resources
B. Decreased use of storage capacity

C. Decreased transportation costs

D. Increased outbound shipments

Answer: :A

NEW QUESTION 184
- (Topic 3)
Which of the following activities typically is included in a warehouse management system?

A. Invoicing

B. Freight-bill auditing
C. Order processing
D. Vehicle routing

Answer: C

NEW QUESTION 189
- (Topic 3)
Which of the following activities is forbidden in a foreign trade zone?

A. Remarking or repackaging imports to avoid fines

B. Breaking up large shipments to reduce import duties
C. Reexporting goods without paying duties

D. Conducting retail trade

Answer: D

NEW QUESTION 192

- (Topic 3)

A company develops annual forecasts for key products and enters into annual contracts with key suppliers based on the forecasts. Which of the following benefits
would the company most likely receive from this approach?

A. Shorter delivery lead times
B. Lower prices

C. Improved service

D. Higher-quality products

Answer: B

NEW QUESTION 195
- (Topic 3)
A primary reason for enhancing supply chain security is to:

A. meet government requirements.
B. reduce insurance costs.

C. improve lead time.

D. protect brand image.

Answer: D

NEW QUESTION 196
- (Topic 3)
Which of the following types of strategies minimizes inventory throughout the supply chain to avoid obsolescence?

A. Delayed differentiation
B. Low costs

C. Location

D. Response

Answer: A

NEW QUESTION 197

- (Topic 3)

Companies interested in developing programs to pinpoint customer loyalty rely on customer relationship management tools that produce which of the following
outputs?

A. Transaction management

B. Forecast, process, and information sharing
C. Churn analysis and prediction

D. Event and service management
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Answer: C

NEW QUESTION 198
- (Topic 3)
The theory of constraints (TOC) works best in an environment where the:

A. product mix for the operation changes daily.

B. constraint cannot be easily managed.

C. constraint cannot be easily identified.

D. constraint persists long enough to be managed effectively.

Answer: D

NEW QUESTION 200
- (Topic 3)
Which of the following principles is a core value of the UN Global Compact?

A. Anti-Corruption
B. Profitability

C. Discrimination
D. Employment

Answer: A

NEW QUESTION 204
- (Topic 3)
Which of the following issues recently has caused companies to rethink implementation or continued use of a Just-in-Time system?

A. The upward trend in inventory carrying costs
B. The reduced number of potential suppliers
C. The elimination of billing documents

D. Higher transportation costs

Answer: D

NEW QUESTION 207
- (Topic 3)
Which of the following outcomes is the primary benefit to an organization that develops a supplier certification program?

A. Supplier capability is documented.

B. Inspection costs are reduced.

C. Delivery time is improved.

D. Negotiating power is strengthened for the certifying organization.

Answer: B

NEW QUESTION 209
- (Topic 3)
When multiple warehouses are combined into one centralized warehouse, the requirement for safety stock is reduced because:

A. there is less in-transit inventory.

B. the total variability of demand is reduced.
C. average cycle stock is reduced.

D. safety stock becomes available-to-promise.

Answer: B

NEW QUESTION 210
- (Topic 3)
A firm decides to move from a mass production to a mass customization model. This will result in a change in focus from:

A. special to general purpose facilities.
B. lower to higher operational cost.

C. efficiency to effectiveness measures.
D. high to low flexibility workforce.

Answer: :A

NEW QUESTION 215

- (Topic 3)

The implementation of major enterprise-wide changes to eliminate or significantly reduce waste is related to which of the following concepts?
A. Kaizen

B. Kanban
C. Six Sigma
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D. Lean

Answer: D

NEW QUESTION 220

- (Topic 3)

A service company has decided to create a customer-focused business and has identified the following steps in the process:
{exhibit 3860}

Which of the following sequences of steps is correct for implementing the company's decision?

A.2,1,4 3,5
B.4,2,1,5,3
C.3,52,4,1
D.4,2,5 /1,3
Answer: B

NEW QUESTION 223

- (Topic 3)

A manufacturer of consumer goods has purchased one of its distributors. The distributor's inventory system is archaic and will not integrate into the manufacturer's
enterprise resources planning (ERP) system. Which of the following approaches is the most appropriate long-term solution for the manufacturer?

A. Buy a complete ERP system that includes seamlessly integrated distribution.
B. Buy a warehouse management system that integrates into the ERP system.
C. Run the existing warehouse inventory system and update the ERP system manually.
D. Hire a software contractor to write an interface with batch update to the ERP system.

Answer: B

NEW QUESTION 228
- (Topic 3)
Variability in product design can best be reduced by:

A. initiating 100% product inspection.
B. outsourcing the design process.
C. broadening design specifications.
D. applying Six Sigma principles.

Answer: D

NEW QUESTION 231
- (Topic 3)
Use of a private warehouse is most appropriate when a firm needs to:

A. adjust warehouse capacity easily for seasonal products.

B. perform a limited number of specialized activities for customers.

C. control operating policies and hours to respond to changes in market demand.
D. take advantage of economies of scale and scope to increase profitability.

Answer: C

NEW QUESTION 233

- (Topic 3)

A company plans to benchmark its shipping reliability compared to other companies in the industry. Which measurement is most appropriate to benchmark in this
case?

A. Perfect order fulfillment

B. Upside supply chain flexibility
C. Order fulfillment cycle time

D. Total inventory days of supply

Answer: A

NEW QUESTION 238

- (Topic 3)

During the sales and operations planning (S&OP) horizon, planned inventory can best be used to:
A. implement a time-phased stock replenishment plan.

B. allow for consistent production lot sizing.

C. buffer the company against unknown fluctuations in demand.

D. minimize storage and transportation costs.

Answer: C

NEW QUESTION 241
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- (Topic 3)
What is the appropriate supply chain strategy for a product with low demand uncertainty and high economies of scale?

A. Pull

B. Push

C. Push-pull

D. Postponement

Answer: B

NEW QUESTION 246

- (Topic 3)

A car manufacturer has 40000 cars in inventory, of which 5000 are electric. The manufacturer expects to sell 5000 cars per day, of which 4000 are estimated to be
gasoline cars. The days of supply for electric cars is:

A. 40 days.
B. 10 days.
C. 8 days.
D. 5 days.

Answer: D

NEW QUESTION 250
- (Topic 3)
An organization is partnering with a supplier. The most appropriate tool to ensure that the supplier has the necessary capabilities is:

A. a supplier-input-process-output-customer diagram.
B. supplier certification.

C. supplier relationship management.

D. supplier performance evaluation.

Answer: B

NEW QUESTION 253
- (Topic 3)
Which of the following measures typically would be considered an aspect of the environmental impact of a supply chain?

A. Amount of funds invested in infrastructure improvements

B. Hours of employee education about environmental stewardship
C. Weight and volume of packaging materials used

D. Total number of people making a living wage

Answer: C

NEW QUESTION 258

- (Topic 3)

A company that locates manufacturing facilities in different countries so that an economic downturn in one country most likely will be offset by business in another
country is employing what type of strategy?

A. Speculative
B. Hedge

C. Flexible

D. Forecast

Answer: B

NEW QUESTION 262

- (Topic 3)

A manufacturing company with limited competence in logistics plans to expand into an international market. The most appropriate initial action the company should
take is to:

A. buy a distribution company.

B. build a distribution network.

C. engage a third-party logistics company.
D. gain logistics experience.

Answer: C

NEW QUESTION 267

- (Topic 3)

The most appropriate strategy for a firm that makes and sells a wide range of items typically would be to domestically source items that have which of the following
characteristics?

A. Short product life cycle and many variations

B. Short product life cycle and few variations

C. High labor value and low transport uncertainty

D. High labor value and high transport uncertainty domestically
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Answer: A

NEW QUESTION 272
- (Topic 3)

When evaluating several possible supply chain options, a firm considering the minimal total cost should:

A. ensure that the inventory levels are as low as possible to minimize holding costs while still providing adequate customer service.

B. account for the combined costs of holding buffer inventory and incurring inventory shortages.
C. consider the costs of acquiring, holding, and transporting inventory, and of servicing customers.
D. place buffer inventory in the lowest cost locations that meet lead time and service level requirements from customers.

Answer: C

NEW QUESTION 276
- (Topic 3)

A manufacturer experiences frequent changes in product technology and market preferences, resulting in new product introductions each year. Which of the

following sourcing strategies would be most appropriate?

A. Sole sourcing

B. Multiple sourcing

C. Long-term contracting
D. Strategic partnering

Answer: D

NEW QUESTION 280
- (Topic 3)

Incorporating information technology into its supply chain allows a company to efficiently:

A. collect, store, encode, process, analyze, transmit, receive, and print data.
B. manage order entry, scheduling, warehousing, and order tracking.
C. incorporate elements of Six Sigma into supplier relationships.

D. upgrade enterprise resources planning revisions in a timely and secure manner.

Answer: A

NEW QUESTION 282
- (Topic 3)
E-business allows a firm to capitalize on the use of systems that:

A. speed the receipt of e-mails between companies.
B. permit real-time use of supply chain data.

C. permit the use of batch-processed data.

D. ensure security of proprietary data.

Answer: B

NEW QUESTION 287
- (Topic 3)
Value stream mapping provides the most benefit when:

A. analyzing customer requirements.

B. identifying nonvalue-added activities.

C. planning kaizen events.

D. implementing an information technology strategy.

Answer: B
NEW QUESTION 288

- (Topic 3)
The logistics value proposition involves matching:

A. identification of appropriate sourcing partners with service reliability metrics.

B. activity-based costing practices with supply chain financial strategy.
C. cost minimization practices with balanced scoreboard performance.
D. operating competency and commitment with key customer requirements.

Answer: D

NEW QUESTION 291
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